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CONCEPTUAL MAP. VERB TO BE

l

PRESENT TENSE

N

HAS THREE FORMS

AM IS ARE
| HE, SHE, IT YOU, WE, THEY
THE STRUCTURE
AFFIRMATIVE
NEGATIVE QUESTIONS
SENTENCES
SENTENCES
SUBJECT ¢AM=IS=ARE
SUJECT + AM +AM=IS=ARE +
IS=ARE +C SUBJECT+C+?
+NOT+C.

l

4

PRINCIPAL VERB

%

AUXILIARY VERB

WH QUESTION + AM =IS
=ARE+ SUBJECT + C +

N

l

PAST TENSE
HAS TWO
FORMS
WAS WARE
1, HE, You,
SHE, IT WE.THEY
STRUCTURE
AFFIRMATIVE NEGATIVE QUESTIONS
SENTENCES SENTENCES
SUBJECT+WAS SUBJECT+WAS WAS=WERE+
=WERE+C. =WERE+NO+C SUBJECT+C+?

WH QUESTION+ WAS=WERE+
SUBJECT+C+?




